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1. Poan JAUCIHUIIIMHBI «l'[pmbeccuouanbﬂaﬂ NMOArOTOBKA HA AHIJIMHCKOM SI3BIKE» B (l)OpMI/IPOBaHI’II/I KOMIIe Te HIMH BBIITYCKHHUKA:

PesyabTaThl .
eMeHT K . COCTaBﬂﬂ]OI].llfle pe3yjabTaToB 0CBOC HUA (l]ecKpHHTOpb[ KOMHeTeHIIl/[H)
. ()
oOpa3oBaTeJbHOM’ A
CemMecTp | KOMIIE Te HIUH HanMe HoOBaHHEe KOMIIE Te HIIUH o011
nporpaMmmabl (H HCIHUILIAHA, H
NPaKTHKA, FI/IA) KO}] aMM e HOBaHHE
CnocoOeH 0CyIEeCTBISTh YK(Y)- Brameer onbIToM CTPYKTY pHp OBaHWS ¥ O(OPMICHHS Y CTHOT'O COOOIIEHNS,
JIETIOBY IO KOMMY HUKALIHIO B 4B4.3 TIp €3eHTANK JO0KJIaa Ha HHOCTP AHHOM SI3BIKE
Y CTHOH U MIMCbMEHHOU (hopMax
Ha rocy jap CTBEHHOM 1 VK(VY)- Braneer HaBBIKaMU COCTABJICHHST M O(Op MIICHHS JIETOBBIX IMCEM Ha
HWHOCTp aHHOM (-BIX) SI3BIKE 4B4.4 HWHOCTP aHHOM $I3bIKE, B TOM UHUCJIE B DJIEKTP OHHOH cpejie
VK(Y)-4.4 Y MeeT JIOTHYHO, TTOCIIEA0BATEIFHO U apTy MGHTHP OBAHO BBIP )KAaTh MBICIH Ha
’ MHOCTPaHHOM $I3BIKE, JIeTaTh BHIBOBI
VK(Y)-4.¥5 VMeeT anekBaTHO MPUMEHATH P EUeBbIC KIIUIIE U TPAMMAaTHIECKHE CTPYKTY PbI
’ B IIUCbMEHHOW pedn
YK(Y)-4 P8
VK(Y)-4.Y6 V' MeeT KOp peKTHO UCIIOJIb30BaTh HHOS3BITHBIE JISKCUKO-TPAMMaTHIECKUe
’ CTPYKTYpbI U TP O(heCCHOHATBEHO-OPHEHTHPOBAHHY IO TEPMHUHOJIOTHIO
ITpodeccronanbnas 5.6.7 VK(Y)-4.33 3HaeT OCHOBBI CTPY KTy P UPOBAHHS JOKJI4/1a ¥ MIOArOTOBKH TP €3CHTAIMA Ha
TMOATOTOBKA Ha ’ 8’ ’ ’ HMHOCTP aHHOM SI3bIKE, P UHSATHIX B MEXKY HAP OZHOM Cpere
AHTJTIMMCKOM SI3BIKE
VK(V)-4.34 3Haer npasuia opOpMICHHS AETOBIX IACEM JUIS OCY IECTBIICHHS
’ 1p 0(heCCHOHATIH HO-Op UEHTHP OBAaHHOW KOMMY HUKAIIHH
VK(Y)-4.35 3HaeT 6a30BY 0 JIEKCHKY U IP 0()eCCHOHATIbHO-OP UEHTHP OBAHHY IO
’ TEP MUHOJIOTHIO HA MHOCTP QHHOM SI3BIKE
NK(Y)-3 I'otoB ¢popmupoBars Brnaneer HaBBIKOM KCHOJIB30BAHMSA I'pAMMATHYECKUX HABBIKOB,
Tp €3eHTAINY, Hay YHO- [K(Y)-3.B1 | obecneunBaromye KOMMYHUKAILIHIO OOMIEro xapakTepa 0e3 HCKaKEeHHUS
TEXHIIECKHUE OTUETHI MO CMBICITA TP U IIMCbMEHHOM H Y CTHOM OOIIEHNH
pe3yIbTaTaM BEIIIOJIHEHHON
paboTsl, 0op MIATH P8 MK(Y)3.Y1 YMeer np UMEHsITh HHOCTPAHHOTO sI3bIKa B 00bEME, HEOOXOIMMOM ISt
pE3yJIbTaThl UCCIICIOBAHNN B ’ BO3MOYKHOCTH TIOJTY Ye€HHUs HH(OpMaIK U3 3apy OS)KHBIX HICTOUHUKOB
BHJE CTaTeil U JOKJIAIOB Ha
Hay YHO-TEXHMYECKHX K(Y)-3.31 3HaeT JEeKCHYECKUIl 3amac y4eOHbIX JEKCHIECKUX €IUHHLL OOLIEro U
KoH(pep eHImAX (¥)-3.

TEep MHHOJIOTHYECKOTO XapaKTepa




2. Iloka3areyu u METOJAbI OLICHUBAHUSA

IlaanupyemMbie pe3yJibTaThl 00yYe HHsl O JHCIMILTHHE Kona koHTpoJIHpYyeMoii HaumeHoBaHMe pa3neia MeToabl 0lile HUBAHUSI

Kox Haume HOBaHue KOMIIe Te HIluH (11K ee JUHCIATLT HHBI (oe HOYHBbIE Me PONPHSITHSI)
4acTH)

PII-1 OcCyIIEeCTBIIATE KOMMY HUKAllMY HA MTHOCTPAHHOM $I3bIKE B IIPO(ECCHOHAIBHON Pasznen 1. OCHOBBI 3NEKTPOHUKU e IlpeseHTanus
chepe (5 cemectp)

Pasnen 2. [IpumeneHne onepaliiOHHBIX
yeumreneit (6 cemecrp)

Pazpen 3. Llndpposas 3neKkTpoHuKa

(7 cemectp)

Pasznen4. Memnunckoe 000py 10BaHIe
(8 cemectp)

e Pabota B MaJjbIX rpymnmax

VK(Y)-4

PJI-2 Pemats npodeccnoHalbHbIe 3a]a4l HA HHOCTPAHHOM SI3bIKE Paspnen 1. OCHOBBI 2JICKTPOHUKH e TectnpoBanue
(5 cemectp)

Pasnen2. [IpuMeHeHue omeparimoHHbIX
ycuimrtenei (6 cemectp)

Pasnen 3. Lludpopas snexrpoHuka

(7 cemectp)

Paznen4. MemuuHcKoe 000py 10BaHHE

e KourtpomsHas pabota

e PaboTa B MaJBIX rpymnmax
YK(Y)-4

(8 cemectp)

PII-3 IIpe3eHTOBATH H 3aIIHIIATH PE3yJIbTATH KOMITIEKCHO M HH)KEHEPHOH AESITEIBHOCTI Pazpen 1. OCHOBBI 2JIEKTPOHUKHI e IlpeseHTarus
Ha HHOCTPAHHOM S3bIKE (5 cemectp)

Pazpen 2. IIpumeneHue onepaiiOHHbIX
YK(Y)-4 yeumrerneit (6 cemecrp)

TIK(Y)-3 Paspen 3. Llndposas 3nekTpoHnKa

(7 cemectp)

Paznen4. MeauiuHckoe 060py ioBaHue
(8 cemectp)

3. Llkaua oneHnBaHUsA
[lopsimox opraHu3aluy OILIEHUBAHUS PE3yINbTaTOB OOYUYEHUsSI B YHHUBEPCHUTETE PErIaMEHTHUPYETCS OTIENbHBIM JIOKAIbHBIM HOPMAaTUBHBIM aKTOM —
«Cucrema olieHUBaHUs pe3yabTaToB 00yueHUss B TOMCKOM monuTexHn4eckoM yHuBepcutere (Cuctema oreHuBaHUs)» (B JEHCTBYIOLICH pelakiim).
Hcnonw3yercss OamibHO-PEUTHHIOBAs CHUCTEMa OLICHMBAHUS PE3yAbTaToB oOydeHus. MroroBas olieHKa (TpaJluLMOHHAs M JUTEpHAas) MO BUJAM
yueOHOU nesrenbHOCTH (uM3ydeHue nucuumiand, YWPC, HUPC, kypcoBoe NpOEKTUpOBaHUE, IMPAKTUKU) OINpEeAeseTcss CyMMOW OayuioB Mo
pe3yapTaTaM TEKYIIEro KOHTPOJISA M TPOMEKYTOUHOM aTTecTaliuy (MTOroBas peMTHHTOBas olleHKa - MakcumyM 100 6amioB).




Pacnipenenenne OCHOBHBIX M JIOMOJHUTEIBHBIX OalsIoOB 3a OLEHOYHBIE MEPONPUSTHUS TEKYLIEr0o KOHTPOJIE M MPOMEXKYTOUHOM aTTeCTalluu

YCTaHAaBJIMBACTCA KaJICH JapHBIM peﬁTHHF-HHaHOM AU CHUIIIINHBI.

PCKOMCH}IyeMaH miKajla JJId OTACJIIBbHBIX OIICHOYHBIX Meponpm{Tnﬁ BXOJHOI'O M TCKYIICTO KOHTPOJIA

% BBITOJIHE HUSI COOTBeTc;FBl/le O e e e Hue one HicH
3a/1a HUs TPpaagHuIuOHHOHA O1I¢ HKE
90%+100% «OTmuHO» OmmuHOe MOHUMAaHUE MIPEAMETa, BCECTOPOHHME 3HAHMS, OTIMYHbIE YMEHUSA U BIAJCHUE ONBITOM IPAKTUUECKOU NEATEILHOCTH,
HEOOXOAMMBIE PE3yJbTaThl 00ydeHHUs ChOPMUPOBAHBI, UX KAU€CTBO OIICHEHO KOJIMYECTBOM O0aJuIoB, OJIM3KMM K MAaKCHMaJIBLHOMY
70% - 89% «Xopo1o» JlocTaTogHO MOJIHOE TOHMMAHHUE MIPEMETa, XOPOIINe 3HaHHS, YMEHHSA U ONBIT IPAKTHIECKON NEATEILHOCTH, HEOOXOMMBIE Pe3yIIbTATEI
00y4eHus copMHUPOBaHBI, KAYECTBO HH OJHOTO M3 HUX HE OIIEHCHO MUHUMaJbHBIM KOJIMIECTBOM 0ajuioB
55% - 69% «Y I0BILY [MpuemiemMoe MOHNMaHNE IPEIMETa, yAOBICTBOPHUTEIbHbIC 3HAHUS, YMEHHS U OTBIT NPAKTHICCKOHN ACSTEIHHOCTH, HEOOX0MMBIE Pe3yIbTaThl
00y4eHns copMHUPOBAHEL, KAYECTBO HEKOTOPHIX M3 HUX OICHEHO MUHUMAJBHBIM KOJMYECTBOM 0aJlioB
0% - 54% «HeynoBmny» PesynpTaThl 00y4YeHUs] HE COOTBETCTBYIOT MUHUMAJIbHO JOCTATOYHBIM TPEOOBAHUIM
[kana 1151 OIEHOYHBIX MEPONTPUITUI T (OPEpEHITMPOBAHHOTO 3a4eTa / 3a4eTa
Crenenn "I
cc opMuUpoBaHHOCT) Bamn COOTBeTC‘:l‘BPle O npenenenme oueHKH
pe3yJbTaToB TpajiuLHOHHOM OLle HKe
00yue HUsI
90% + 100% 90 + 100 «O1TmuHO» OnmuHOe MOHUMAaHUE MPEeAMETa, BCECTOPOHHUE 3HAHUS, OTIMYHbIE YMEHUS U BIaJCHUE OIBITOM IIPAKTUYECKOU JIESITENIbHOCTH,
HEoOX0AMMBIE Pe3yJIbTaThl 00ydeHHs c)OpMUPOBAHBI, MX KAaUeCTBO OIIEHEHO KOJMYESCTBOM 0aJuIoB, OJIM3KHM K MAaKCHMAJIBLHOMY
70% + 89% 70 =89 «Xopo1mo» JI0CTAaTOYHO TOJHOE MOHUMAaHUE MPEAMETA, XOPOIIHe 3HAHKS, YMECHHUS U OTBIT MPAKTUIECKOH JCATEILHOCTH, HEOOX0MMbIe
pe3ysbTaTel 00y4eHns chOPMUPOBAHEI, KAYECTBO HU OJHOTO M3 HUX HE OIIEHCHO MHHUMAIBHBIM KOJMYECTBOM OaiioB
55% +69% 55 +69 «Y IOBIL» [puemieMoe MOHNMaHUE IPEIMETa, yIOBICTBOPHUTEIBHBIC 3HAHHSA, YMECHHUS U OIBIT MPAKTHIECKON NEATEIFHOCTH, HEOOX0 MMBIe
pe3ysbTaTel 00ydeHns chOPMHUPOBAHBI, KAYECTBO HEKOTOPHIX U3 HAX OIICHEHO MUHUMAJBHBIM KOJIMYECTBOM 0alioB
55% +100% 55 =100 «3agTeHO» Pe3ynpTathl 00yUYeHUs COOTBETCTBYIOT MUHHMAJBHO JOCTATOUHBIM TPEOOBAHUSIM
0% =+ 54% 0+54 «Heynosm»/ PesynbTaThl 00y4YeHUsI HE COOTBETCTBYIOT MHHHUMAIIBHO JIOCTATOUHBIM TpeOOBaHUSIM
«He 3auteHO»

4. TlepeueHb TUMOBBIX 3aJaHUI

O neHoYHbIEe MepPONpPUATHS

l'[pnMele THIIOBBIX KOHTPOJIb HBIX 3aaHui

1. TectupoBanue

Bonpocsr:

Pazpea 1.
1. Classify each of the following components as passive or active: resistor; bipolar transistor; capacitor;
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battery; transformer; field-effect transistor; inductor. Draw its symbols.

2. Draw the sinusoidal signal. What is the amplitude if it is known that Vrms equals 220 V? How can
we calculate the average voltage?

3. What is the frequency of a signal if the period is equal to 1 ms.

4. What does the term “phase difference” mean? Explain it with the help of waveforms.

5. Write the expression for Ohm’s law.

6. Kirchhoff’s current law and Kirchhoff’s voltage law. Explain them by using a simple circuit.

7. Write the relationship between the current flowing through and the voltage across the inductor.

8. Three fixed resistors are connected in parallel. Calculate the total equivalent resistance Rrp of the
parallel circuit.

9. Resistors R1 and R2 are connected in series to input direct voltage source. If the input voltage is
15V, and the resistance R1 =2-R2, what is the voltage across the resistor R2?

10. Time constant. What does it mean? Find time constant for CR- and LR-circuit.

11. Give the circuit of CR low-pass filter and its frequency response.

12. Draw and explain V-I characteristics of a PN junction diode.

13. Explain the abbreviations: FET, BJT, KVL, KCL.

Test#2

Please, choose one variant as an answer for each question:

1. A DC voltage

A)

rises and falls

B) is a sinewave
C) remains constant

D)

is an audio waveform

2. ImA is equal to:

A)

0.001A

B) 0.00001A
C) 0.01A

D)

0.1A

3. If a 10k resistor is placed across a 10v supply, the current will be:
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A) 10mA
B) ImA
C) 0.01mA
D) 0.1mA

4. If a small value of capacitance is connected in parallel with a large value, the combined capacitance
will be:

A) The same

B) Higher

C) Lower

5. A 10k resistor in parallel with 10k produces:
A) 10k

B) 5k

C) 20k

D) Cannot be determined

Two 3v batteries are connected as shown. The output voltage is:

A) 3v
B) Ov — il
C) 6v v v

7. The closest value for this combination is:
A) 4Kk7
B) 2k3 A

oo |5,

8. To obtain a higher value of resistance, resistors are connected in:
A) Reverse

B) Forward

C) Parallel

D) Series
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9. The direction of conduction for a diode is:

—H— = (A
e B — e —
A B C

B
C

10. Name three terminals of a bipolar junction transistor
A) Collector Bias Omitter

B) Base Collector Case

C) Emitter Collector Bias

D) Collector Base Emitter

Pa3nea 2.

1.

What does the term ‘operational amplifier’ mean?

2. What general properties of op amp do you know?

3. Draw the amplitude curve of an op amp. How can we calculate the open-loop voltage gamn?

4. What will be the output voltage swing if the voltage drop in the components of the op amp output
circuits is 1 volt for +15-V supply?

5. Draw the equivalent circuit of an op amp.

6. The op amp has an input resistance r;,, =990 kQ, has a voltage gain A of 1000, and an output
resistance r,,; = 100 Q. If the amplitude of the e.m.f. (electromotive force) of the sinusoidal source,
Vs, is 2mV, and the source resistance Rs = 10 kQ2, what is the amplitude of the voltage V| across the
load resistance R; =1 kQ?

Pa3nean 3.

1. Explain the difference between analog and digital signal.

2. Draw the symbols of elementary logic gates.

3. Show how a power source, a lamp and a number of switches can be used to represent the following
logical functions: a)L=A-B-C;b)L=A+B+C;c)L=(A-B)+(C-D);d)L=A @ B.

4. Sketch the truth table of a three-input NAND gate.

5. Sketch the truth table of a three-input NOR gate.

6. What symbols are used in Boolean algebra to represent the functions AND, OR, NOT and Exclusive
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OR?
Write the function of a three-input NOR gate as a Boolean expression.
What is the difference between combination and sequential logic?
Convert the following binary numbers into decimal: 1100, 110001, 10111.
. Convert the following decimal numbers into binary: 56, 132, 67, 5.625.
. A single-input trigger that goes into the opposite state with each pulse is called a flip-flop:

a) D —trigger b) RS —trigger c¢) T —trigger d)JK — trigger
12. Which gate only has an output of 1 if both inputs are 17
a) AND b)OR ¢)NOR d)NAND
13. What main elements does the structure scheme of ADC consist of?
a) Comparator, Approximation Register, Sample/Hold
b) Approximation Register, Trigger, Encoder
¢) Approximation Register, Trigger, Encoder

—_— = \O 00
— o T

d) Comparator, Counter, Trigger
14. What is the initial state of the trigger?
a) 1
b) 0
¢) Undefined and is a random variable
d) Depends on current potentials and applied logic

Paznean 4.
1. The branch of medicine that deals with the provision and use of artificial devices such as splints and
braces is
a) prosthetics
b) orthotics
¢) laproscopic
d) augmentative communication

2. The frequency range of ECG is
a) 0.05-150 HZ
b) 500-1500 Hz
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¢) 5-500 kHz
d) 0.5-150 MHz

3. The main design feature of pregelled disposable electrodes which helps to reduce the possibility of
artefacts, drift and baseline wandering is
a) low absorbency buffer layer with isotonic electrolyte
b) high absorbency buffer layer with isotonic electrolyte
c) high absorbency buffer layer without isotonic electrolyte
d) low absorbency buffer layer without isotonic electrolyte

4. Recording electrical activities associated with heart is known as
a) EEG
b) EOG
¢) EMG
d) ECG

5. Before placing the electrodes the skin should be
a) wet
b) dry
¢) hairy
d) oily

6. Blood cell counters, operating on the principle of conductivity change, which occurs each time a cell
passes through an orifice, are generally known as
a) optical method
b) electrical conductivity
¢) coulter Counter
d) microscopic method

[Ipe3zenTanus

Temsl pe3eHTanui:

Paznea 1.
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N e N

10.
11.
12.

Signals

Fixed resistors vs. Variable resistors
Potentiometers

Wire-wound resistors

Film resistors

SMT-resistors

Avalanche Diode and Tunnel Diode
Photodiode

Light Emitting Diode

Varicap Diode

Schottky Diode

Zener diode

Paznea 2.

e R Ao

10.
11.
12.
13.

Operational amplifier in electronics system design
Summing amplifiers

The differential amplifier
Instrumentation amplifier
Active filters

Square wave generator
Triangular wave generator
Crystal-controlled generator
Sine wave oscillator

LC oscillator

Precision current sources
Adjustable Voltage References
Photocell Amplifiers

Paznea 3.

1.

2.
3.
4.

Algebraic simplification
Binary quantities and variables
Boolean algebra

Boolean algebraic manipulation
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5
6.
7.
8
9.
1

. Combinational logic

Karnaugh maps
Logic gates

. Logic families

Number systems and binary arithmetic

0. Numeric and alphabetic codes

Paznea 4.

W RONN N WD =

Cardiac Engineering

Physiological Systems Modeling
Brain-Machine Interfaces

Perspectives on Neural Engineering
Wearable Biomedical Sensors
Biomedical and Health Informatics
Surgical Robotics

Novel Biomaterials Resonant converters
Genetic Engmneering & Synthetic Biology

KonTponbHas pabota

Bormpocsr:
Paznea 1.

1.
2.
3.

Time constant. What does it mean? Find time constant for CR- and LR-circuit.

Give the circuit of CR low-pass filter and its frequency response. Explain the curve.

In a series RC circuit, 12 V() 1s measured across the resistor and 15 V(s 1s measured across the
capacitor. Find the r.m.s source voltage.

A 20 kHz sinusoidal voltage is applied to a series RC circuit. What is the frequency of the voltage
across the resistor?

The frequency of the voltage applied to a series RC circuit is decreased. How does the impedance of
this circuit changed?

Draw the frequency response of a high-pass filter. Explain how to find the cut-off frequency.

An RC low-pass filter consists of a 110 Q resistor and a 0.002 pF capacitor. The output is taken
across the capacitor. How can we find the circuit’s cut-off frequency?

An RC high-pass filter consists of an 8.2 kQ resistor. What is the value of C so that impedance X¢ is
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ten times less than R at an input frequency of 12 kHz?

9. A sinusoidal voltage with a peak-to-peak value of 36V is applied to an RC low-pass filter. If the
reactance at the nput frequency is zero, what is the output voltage?

10. What is the difference between Pass Band and Stop Band?

Pa3nen 2.

1. Design the adjusted gain inverting amplifier. Determine the output voltage range.

2. Design the two-input inverting adder. Derive an expression for the output voltage in terms of the
feedback resistances and input voltage.

3. What does the term ‘weighting” mean when applied to an adder?

4. Design a three-mput inverting adder. Choose components to get V =-3-V,-10-V,-V, if

R; =33 k€. Suggest a suitable value of the resistor that is series connected to the op-amp
noninverting input.

5. Problem 1:
Given:

R1 R4 Ry =100

V1 o111 Ry = 2002
Ro R; =7.5xkQ2
V2 o} 2y D> Ry = 100xQ

5 o Vi=0.1V
Vo, =—0.1V

R3 VOut 2
[o} 0 Fll’ld
J_ Vout, Iout

6. How are the feedback resistors determined for an adder? Draw the diagrams for the explanation of
the principle of operation of the inverting adder.

Paznen 3.
1. Explain the difference between analog and digital signal.
2. Show that the two circuits (a) and (b) below are equivalent by drawing truth tables for each circuit.
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A —
B

(a) (b)
3. Use Karnaugh maps to obtain minimised Boolean expressions for the following functions

X=AB+ ABC + ABC + ABC
Y=ABC + ABCD+ ACD + ACD + ABCD

4. Use a Karnaugh map to obtain a minimized Boolean expression for the function described by the
following truth table.
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R
&=
0
=
N

et e e = == T == R == R e T e N e TR

e e e et = T = == N === N I T I R e [ e B e [ -
— e D D e e O D e e O D e e OO D
Ll == e B e =R == R e R e B e R
=R — IR — R R R

5. Explain the distinction between combinational and sequential logic.

6. Inan S-R bistable formed using two NOR gates, are the inputs active high or active low?

Paznea 4.

1. What physiological signals can be measured with a smart watch or with a fitness monitoring device?

el

Where are the signals stored, and how can your privacy be protected?
List some advantages of computer modeling of physiological systems
List modern methods and devices used for visualization of human organs.
How to get a clear image of a moving target (cardiac imaging)?

What technical devices help in the treatment of cardiovascular diseases?
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PaboTa B ManbIx rpynmax

Task 1. Rectifiers
Description:
Students are randomly divided into 6 groups with the help of cards on which the function of the
group (role) is written. Each group has 5-7 minutes to be prepared to play its role in a game.
After that game starts.

Roles:
Role 1.Give the circuit of bridge rectifier. Make notes on connection of elements in a circuit.
Role 2. Draw the diagrams of voltage drops across all elements of the rectifier. Give

comments on the diagrams shapes and time intervals.

Role 3: Write Voltage Kirchhoff’s law for one loop of the circuit. Specify it for different time

mtervals.

Role 4. Explain principle of operation of bridge rectifiers using materials presented by

previous reporters.

Role 5. Compose three questions or tasks for given circuit.

Role 6. Answer the questions prepared by Group 5.

Problem #1. Power Semiconductor Devices: Abbreviations and Symbols.
Fill in the Table 1 using the given meanings. Draw the symbol of power semiconductor devices and

translate the device name into Russian.
Table 1.
L. Hectronic . . .
Ne Abbreviation Name Meaning Russian Translation
symbol

L. Diode

3. BJT

4. MOSFET

5. IGBT
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6. SCR

7. GTO

8. SIT

9. SITH

10. TRIAC

11. DIAC

12. MCT

13. RCT

14. LASCR

(LTT)
5. BOD
# Meanings

L A semiconductor device that acts as a one-way valve for electrical current

2. A diode that conducts electrical current only after its breakover voltage has been reached momentarily.

3. A silicon controlled rectifier that conducts when the gate is exposed to light. The gate still operates as a normal
gate in a SCR, but is in many cases left disconnected.

4. A type of FET, most commonly fabricated by the controlled oxidation of silicon. The main advantage is that it
requires almost no input current to control the load current.

5. A special type of thyristor. It can be turned on by a gate signal, and can also be turned off by a gate signal of
negative polarity.

6. A type of transistorthat uses both electron and hole charge carriers. The basic function is to amplify current.

7. A three-terminal power semiconductordevice primarily used as an electronic switch that, as it was developed,
came to combine high efficiency and fast switching.

8. A three terminal electronic component that conducts current in either direction when triggered.

9. A semiconductor light source that emits light when current flows through it

10. A four-layer solid-state current-controlling device.

11. A thyristor with an integrated reverse diode, so it is not capable of reverse blocking. These devices are
advantageous where a reverse or freewheel diode must be used.

12. A gateless thyristor triggered by avalanche current



http://en.wikipedia.org/wiki/Reverse_conducting_thyristor
http://en.wikipedia.org/wiki/LTT
http://en.wikipedia.org/wiki/Avalanche_diode
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13. A high power, high frequency transistordevice. It is a vertical structure device with short multichannel.

14. A thyristor with a buried gate structure in which the gate electrodes are placed in n-base region.

15. A voltage-controlled fully controllable thyristor. It is similar in operation to GTO thyristors, but have voltage
controlled insulated gates.

MeToauyeckue ykazaHus 1o npouejaype oneHUBaHUs

O e HOYHbIE Me PONPHATHS

IIpouenypa npoBe/ e HAS OLe HOYHOTO MePONPHUATHS U HEOOXOANMBbIe MeTOANYe CKHe YKA3aHUs

TectupoBanue

TectupoBanue MpoBoAUTCs OHNANH. TecT paspaboTan ¢ mpuMeHeHueM ryrii-dopM. Bpems npoBenenus
— 1 gac. llenp — mpoBepka ycBOeHUs ydeOHOTO MaTepualia 1o npoiaeHHon teme. O1ieHnBaHue
MIPOU3BOUTCS MIPETOIaBaTEIEM Ha OCHOBAaHUM OaJITbHO-PEUTHHTOBOM CUCTEMBI OI[CHUBAHUS
pe3yabTaToB.

[IpesenTanus

BricTyniieHue ¢ npe3eHTaiuei mo 0JIHOM U3 NPEeUI0KEHHBIX TEM MPOBOAUTCA B paMKax MEPOIPUSITUIA
KoH(pepeni-Heaenu. [1o 3aBepuieHNN MPe3eHTAUH CIYIIATEM MOTYT 3aJ1aBaTh BOIPOCHI
BBICTYNAIONIEMY, a TakoKe MPUHUMATh yYaCTHE B OLICHUBAaHUH J0K1aaa. VToroBbie Oamibl
BBICTABJISIIOTCS MPEIoAaBaTesieM B COOTBETCTBUU € Pa3paOOTaHHBIM PEUTHHT-TIIIAHOM JUCIUTLINHBI.

KoHntposnbHas pabdora

KoHnTtponbsHas pabota mpoBoauTCs muchbMeHHO. Bpems nposenenus — 1 yac. Llens — mpoBepka yCBOCHHS
y4eOHOro MaTepuaia mo nporieHHoM TeMe. KOHTPOIIb OCYIIECTBIASETCS PETYASPHO Ha MPOTSHKEHUU
cemectpa. OlleHUBaHUE MPOU3BOTUTCS MIPENOJaBaTeIeM Ha OCHOBAaHU U OAJIITbHO-PEHTUHTOBOM CHCTEMBI
OIICHUBAHMUS PE3YJBTATOB.

PaboTa B ManbIx rpynmax

CTyneHTbl POU3BOJIBHO JIEATCS HA TPYIIBI MO 2-3 yenoBeka. C MOMOIIBIO KApTOUEK ONpeAesseTcs
GbyHKMs (pOJb) TPYHbL. Y KaKI0W TPYNIbI €CTh 5-7 MUHYT, 4YTOOBI MOJATOTOBUTHCS K CBOEH POJIH.
[locne sToro HaunHaercs padoTa. OLleHMBaHKUE TPOU3BOANUTCS TPENOIaBATEIEM, BO3MOXKHO B3aMHOE
OLICHUBAHHE MEXY IPYIIaMHu.




